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s 4 555 5 R&EF YoOvd mRE | ’RNF WE Riglk | mEF | 2018F | REF Fo0Ov]| mRE | BRUF WE Bk | HEZF | 20174
Point 18.04 18.07 18.09 18.10 18.11 19.02 19.02 Point 17.04 17.07 17.09 17.10 17.11 18.02 18.02 Point
1Al # EHO—-> 235 0 20 45 40 15 80 35 235
2| fB— >0 A-)L 222 0 35 30 40 0 12 70 35 222
3N RE River 170 0 100 70! 170
4| AT > A-)L 157 0 30 17 30 50 30 157
5|AH HIT EHMO—> 152 0 4 30 5 8 70 35 152
6| ARE A EHO—> 144 0 4 30 5 3 12 70 20 144
7| Bz F—AURT 130 0 70 30 30 130
8|=% RE EHO—> 126 0 20 5 1 15 20 30 35 126
IR RA EHO—> 125 0 20 5 25 15 30 30 125
9Bl BX EHO-> 125 0 20 5 25 15 30 30 125
11|EE 15 >0 A=)L 116 0 35 30 1 3 12 15 20! 116
12 B EHO-> 96 0 35 5 5 15 20 5 11 96
125 E— BHO—-> 9% 0 12 15 5 3 20 30 11 96
14 (4 Eth EHO—> 86 0 20 5 1 10 20 30 86
15|FH Hik TFLR 81 0 12 15 3 30 21 81
16 (M F— EHO—> 71 0 12 5 5 15 12 5 17 71
17|40 5583 River 70 70
18 (17T K EHO—> 66 0 12 5 5 10 12 5 17 66
19(&F EZ EHO—> 60 0 4 5 1 15 5 5 25 60
19(mEp &H® F—LUT 60 0 30 30 60
21|50 ¥ River 54/ 0 19 0 35 54/
21| A River 54 0 19 0 35 54
23(HB Ex TFLA 52 0 4 5 10 3 8 5 17 52
24|40 B EHO-> 40 0 4 5 1 3 5 5 17 40
25| R ER River 36 0 4 5 10 10 2 5 36
26 (HEBH  Fth EHO-> 34 0 4 5 8 17 34
27 [k BX EHO—> 33 0 8 25 33
28 (FEE ES >0 A-)L 32 0 4 5 8 15 32
29(ipR F BHO—-> 27 0 4 8 15 27
29|54 AR BHO—-> 27 0 2 25 27
31|99 8 F—LURT 25 0 8 17 25
31(UE | =OUVTC 25 0 8 17 25
31|Bza Eth 2UvTC 25 0 25 25
34(Cyh APFY | SOUTTC 21 0 2 2 17 21
34 (%R =E TFLR 21 0 21 21
34(MER HT =OUVTC 21 0 2 2 17 21
37(@A REE EHO—> 17 0 17 17
37|%EH fe— EHO—> 17 0 17 17
37| w2z BHO—-> 17 0 17 17
37|=E Bt 17 0 17 17
37|IMRR BRI 17 0 17 17
37(=@ 1EED 17 0 17 17
37| #Am— 17 17
37[FH A& 17 17
45|FR T8 14/ 0 4 10 14/
45(MEB 35 14 0 4 10 14
47 | KAR EE 13 0 8 5 13
47|TH HE— BRTU—> 13 0 8 5 13
47 |Ei FEth EHIU—> 13 0 8 5 13
S0|ifRE BT 12 0 12 12
50|%elE IR 12 0 2 10 12
50|hEB ¥— 12 0 2 10 12
50|tk 2 12 0 2 10 12
SO|¥ER BEiF 12 0 2 10 12
50|@k iEh 12 0 2 10 12
So(#A MEZ 12 0 12 12
57|HiR HEA 10 0 10 10
57|&F Ml 10 0 10 10
57\ % BHO-> 10 0 10 10
S7[BH LAT SvLF> 10 0 10 10
57|k & Br7— 10 0 10 10
S57(XE Az DUvTC 10 0 10 10
57| KM 1@z SvLF> 10 0 10 10
57|50 &z River 10 0 10 10
57[AEA #E River 10 0 10 10
S57|FH Eh BRIHT2H 10 10
57(&FN BF SERIG13r 10 10
57(R&)l KR River 10 10
57(@E #A River 10 10
70(ARH X— EHO—> 9 0 2 2 5 9
G EHMO—-> 8 0 6 2 8
71|7wE EHO—> 8 0 8 8
73|(hE &K ZOUVTC 7 0 2 5 7
73|® WA >0 A-)L 7 0 2 5 7
73|54 IES A1—bE— 7 0 2 5 7
73T AR EHO—-> 7 0 2 5 7
73| FRA f— =OUVTC 7 0 2 5 7
73[R0 A EHO—> 7 0 2 5 7
79|4A At Br7— 6 0 6 6




80|BHE 5 SRINTG 5 0 5 5
80 (%t [ ARANT 5 0 5 5
80| 3k A1—bE— 5 0 5 5
80|FEE | A1—hE— 5 0 5 5
80| AR fi#F BRI 5 0 5 5
80 [/N\EFER [E BRTU—> 5 0 5 5
80 [ftd Bk River 5 0 5 5
80 (A4t f2R H27— 5 0 5 5
80|itm 5 Br7— 5 0 5 5
80 [=fE #2417 =OUVTC 5 0 5 5
80 [hnfE Eth EHMO—> 5 0 5 5
80(XkH B BRTU—> 5 5
80 (&4d  ANisk River 5 5
80|1EAR isith River 5 5
802 HZ EHO0—> 5 5
80 (il fit River 5 5
80|iRA FE River 5 5
97 (EE FRZ EHO—> 3 0 2 1 3
97 [k #— EHMO—> 3 0 2 1 3
97 | M & UvTC 3 0 2 1 3
97 |EH XE UvTC 3 0 2 1 3
97 (Mt fE— =OUVTC 3 0 2 1 3
102|874 HfZ MRANT 2 0 2 2
102 (%  #ET EHO-> 2 0 2
102 |4EME I ZOUVTC 2 0 2 2
102|/vk  #Eth EAO—> 2 0 2 2
102l EE Y7— 2 0 2 2
102(=i M H27— 2 0 2 2
102|8RI% %S A1—bE— 2 0 2 2
102| &Il &IE River 2 0 2 2
102 (AfRE K& River 2 0 2 2
111(BH @ BRI TERT 1 0 1 1
111|4@k & SERIHIRds 1 0 1 1
111(EE &8 SERFHIR 1 0 1 1
111|HE BA SERTERT 1 0 1 1
111|#l 8A =OUVTC 1 0 1 1
111|F=E his River 1 1
111[RE 184 River 1 1
111 | FR River 1 1
111 [JEdE 52T River 1 1
111[8@K BA River 1 1
111(MHEE BEX River 1 1
111 (b 9 River 1 1
111|@E H055F EFITHEAY 1 1
111|HR AE ERITERY 1 1
111(MHEs AKX River 1 1
1110 R River 1 1
127 404 HE—EB ARANT 0 0 0 0
127 |5 Bt F—LUT 0 0 0
127 |4E3k8 B8 A1—hE— 0 0 0
127|888 & SERTERT 0 0 0 0
127 (=% ™3 EHO-> 0 0 0
127|%= F05h ERITU—> 0 0 0
127 (&HE B EHO-> 0 0 0
127| AN Pk | B> 57— 0 0 0
127(€5> Kt BRI TERT 0 0 0 0
127 |#2 &= EAHO—> 0 0 0
127|/N8 il EFITHEAY 0 0 0
127 |5 =¥ ERITU—> 0 0 0
127258 sk SEFIF 1233 0 0 0
127 (A4RE —BB SERI G133 0 0 0
127(=% Hm EHO—-> 0 0 0
127|=M 8A =0UVTC 0 0 0
127(=ls  Kis EHO—-> 0 0 0
127 (YL #— TFLR 0 0 0
127|108 EER SvLI> 0 0 0
127|6H RX EAHO-> 0 0 0
127 (Al K TLw I 0 0 0
127(XA ipk TLYIX 0 0 0
127(%& A EFITHEAY 0 0 0
i ERI130 0 0 0
127 A8 HELE SR — 0 0 0
127|55% 1432 EHO-> 0 0 0
127|=46 his EFITHEAY 0 0 0




